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(�OEL99 B5D4;B64A<9). 4 ISBN 978-5-534-08195-4. 4 &9>EF : Q?9>FDBAAO= // "5D4;B64F9?PA4S C?4F-
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�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 45-

OF5?L=>EF<, ?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 ?>-

<5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, E G>474=<5< ?5D5G=O >E-

=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE  

?>E>5<= < <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O 

�4D5E (<5EF>?>?>65-

=<5) ?><5M5=<= 4?O 

?D>6545=<O 6E5E 6<-

4>6 GG55=>= 45OF5?L-

=>EF<, ?D54GE<>FD5=-

=>= GG55=O< ??4=>< 

(6 E?GG45 D54?<74F<< 

>5D47>64F5?L=>= 

?D>7D4<<O 6 E5F56>= 

D>D<5 4>?>?=<F5?L-

=> G>47O645FEO 

=4<<5=>64=<5 >D74-

=<74F<<, E >>F>D>= 

74>?NG5= 4>7>6>D) 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 7DG?-

?>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><5-

6GF>G=>= 4FF5EF4F<< 7 210 «�5>F<>==4O 4G4<F>D<O» 

�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O, 

�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 80 <5EF,  

�G?LF<<54<==>5 >5>DG4>64=<5: 

�=F5D4>F<6=4O 4>E>4 SCREEN MEDIA I-82SA-1LF; �>=<F>D «LG-19» 

S19A10N-1LF; �D>5>F>D BenQ MX 813 ST-1 LF; �>E>4 4G4<F>D=4O 3-E 

E5>F<>==4O. %<EF5<=O= 5?>> «Formoza»-1LF., �455?L HDMI 15 < 

G5D=O= 3 1 LF., �>?>=>< SVEN SPS-611S - 1 LF; 

�?5D4F<>==4O E<EF5<4: Calculate Linux; �=F5D=5F 5D4G75D: Firefox; 

�D<E=>5 ?D<?>65=<5: LibreOffice; �G?LF<<54<4: SMplayer; 

�D4D<G5E><= D544>F>D: gThumb 
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'?LO=>6E>4O >5?4EFL, 
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G?. �G=5OL564, 4.310 
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F<= E5<<=4DE>>7> F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 
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GG55=>-=47?O4=OE ?>E>5<= ?> <=65=5D=>-F5E=<G5E><< 4<EF<??<=4<; 

%F5=4 '�� (46<74F5?L ,���, D4744F>G=4O)-1 LF 

%F5=4 46<74F5?L ���-2101 3 LF., 

%F5=4 46<74F5?L ���-131- 1 LF.. 

%F5=4 46<74F5?L ����� 3 1 LF., 

%F5=4 46<74F5?L ��� 6 E5>D5 E ��� -1 LF., 

%F5=4 ���-2101 (46<74F5?L, ?5-D54=OO ?>465E>4) 3 1 LF 

%F5=4 46<74F5?L ���� 3 1 LF. 

%F5=4: D4744F>G=4O >>D>5>4 ����� -4310 -1 LF., 

�G?LF<<54<==>5 >5>DG4>64=<5: 

�D>5>F>D ViewSonic PJD5123 (?5D5=>E=>=) - 1LF, �>GF5G> Samsung 

(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 FD5=>75 

(?5D5=>E=>=) - 1 LF. 

�?5D4F<>==4O E<EF5<4: Calculate Linux; 

�=F5D=5F 5D4G75D: Firefox; 

�D<E=>5 ?D<?>65=<5: LibreOffice; 
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433511,  
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G?. �G=5OL564, 4.310 
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%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., �>=<F>D 

«LG»-6 LF. 

�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus 

�DE<64F>D 7-zip. 

Microsoft Open License 62300500ZZE0906 >F 14.06.20077. 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 4.310 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 5<5?<>F5><) 

�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. E 

6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF. 

�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus 

�DE<64F>D 7-zip. 

Microsoft Open License 62300500ZZE0906 >F 14.06.20077. 
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=OE (LibreOffice Base)) 
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�?5D4F<>==4O E<EF5<4: Calculate Linux 

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
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(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 44=-

=OE (LibreOffice Base)) 

�DE<64F>D 7-zip 

433511,  

'?LO=>6E>4O >5?4EFL, 
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$5F5=75=F: �.&.�., ��&��& �5FDO>>6 %.�.
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